AutoRace JP&EEM
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(= ivi EFE LG | IH8xR NIF s | ome | 1BHB | BR[| 288 | Ba
1 N =2 BRIR 15 10 mal Al 135 16 14
2 PET S B R 14 10 mal Al 127 12 16
3 AW T BRIR 14 10 mal A | 130 14 14
4 E I ) No 14 20 mal A | 138 12 16
5 ELZ N YN PRIF 135 |10| mBg | A| 88 16 11
6 A B Wz 135 | 10 mal A | 89 16 11
7 #wRK RO B 135 | 20 mal A | 141 14 13
8 A B8 BRIR 135 | 20 mal A | 145 11 16
9 BAx = BRIR 13 & |8/N\VT| A|137 14 12

10 K B3 R 13 10 mal A| 50 10 16
11 hE BE BRIR 13 10 mal A | 106 16 10
12 B 8= BRIR 13 20 mal A| 132 12 14
13 Lm X RV BRIR 13 20 mal A | 168 14 12
14 iz N SRR 125 10| mal | A| 67 9 16
15 BAR K70 BRIF 125 | 20 mal Al 171 9 16
16 eI 2 BRIR 12 10 mal A| 53 10 14
17 BE =M BRIR 12 20 mal A | 158 16 8
18 HME &% BRIR 115 B |2/\VT|A| 38 16 7
19 S0 B (BT 1156 | &= |B/\VT| A| 66 14 9

20 P=0 = BRIR 115 | 10 mal A | 139 14 9

21 BEA A BRIR 115 | 20 mal A | 136 10 13

22 E=L/N-) BRIR 11 B |&/N\VT|A| 71 12 10

23 P g BRIR 11 10 mal Al 123 10 12

24 £ s BRIR 11 20 mal Al 101 8 14

25 K =— BRIR 10 10 mal A | 61 11 9

26 INFR 1954 R 10 20 mal A| 175 13 7

27 a8 X BRIF 10 20 mal Al 216 10 10

28 K EZ BRIR 10 30 mal Al 214 11 9

29 BE == PN 10 40 mal B| 53 10 10

30 WE B BRIR 95 10 mal A| 55 5 14

31 A =E el 95 |20 mBy | A| 86 12 7

32 R #&3l Wz 95 20 mal A| 87 5 14

33 IR FOIE Wwpz 95 20 mal A | 204 11 8

34 =B =7 BRIR 95 30 mal B 4 10 9

35 A [l kS 95 |30| mel |B| 8 13 6

36 =E bE| PRI 85 10 mal Al 73 10 7

37 Fary  &IE Wwpz 85 20 mal A | 140 12 5

38 wE 8= LBz 85 20 mal A | 199 7 10

39 eI N PN 85 30 mal Al 213 6 11

40 EmE BR BRIR 8 10 mal A| 129 6 10

41 HE FE o 8 20 mal Al 185 7 9

42 FT & BRIR 8 30 mal B| 32 5 11

43 MR HE LB 8 40| mEl | B| 73 9 7

44 BHS B8R BRIR 75 20 mal A | 195 9 6

45 mE —3 Wwpz 75 20 mal A | 222 11 4

46 I IES BRIR 75 30 mal B| 2 8 7

47 N8 f#X BRIF 75 30 mal B| 18 8 7

48 7 Bfc BRIR 75 40 mal B| 42 8 7




49 RN IEE BRIR 7 10| mai | A| 97 5 9
50 f N B 7 10| mal | A|102 2 12
51 E N PRV 7 20| mal | A| 41 10 4
52 BsW XE BRIx 65 |20 mAl | A| 148 9 4
53 BH K& no 6 20| ma1 | A| 165 6 6
54 KK BZ BRIx 6 20| mal | A| 191 6 6
55 fBwR B'X PE2VN 6 30| ma1 | A|220 5 7
56 B =X LLIBE 6 30| mEl | B| 72 3 9
57 w2 BRIR 55 |30| mal | A|211 3 8
58 NS B= BRIx 55 |30| mal | B| 49 7 4
59 KO FiB BRIR 5 30| mEl | B| 44 8 2
60 BT B LLIBE 5 30| mai | B| 106 5 5
61 wEe 2 BRIR 5 40| mej | B| 30 5 5
62 &8 838 R 5 40| mel | B| 75 6 4
63 Bl =R BRIR 45 10| mai | A|172 7 2
64 e AR BRIx 45 |20 mAl | A|226 4 5
65 MR IR BRIR 45 | 30| me1 |B| 12 6 3
66 #e| - no 45 40| mal | B| 91 2 7
67 BT 34 BRIR 45 |40| me1 | B| 92 4 5
68 ‘B &X LLIBE 4 40| mel | B| 40 4 4
69 AP HENE BRIR 35 |30| me1 |B| 16 5 2
70 =it B8 BRIR 35 [40| m@Al | B| 86 3 4
71 wWE o ® BRIR 35 |40| mEl | B| 93 2 5
72 E4 883 R 35 [40| m@Al | B| 99 5 2
73 ARAR 87 BRIR 35 |40| mEl | B|113 5 2
T4 NB H LLIBE 3 30| mel | B| 96 2 4
75 HE &EF BRIR 3 40| mej | B| 68 2 4
76 s8 EE R 3 40| mel | B| 95 4 2
7 a8 X LR 25 |30| me1 | B| 61 3 2
78 NP = 1 2 40| mel | B| 26 2 2
79 MK P BRIR 2 40| mel | B| 89 2 2
80 BB I LLIBE 2 50| mel | B| 85 2 2
i B B BRIR X 40| mej | B| 46 D
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